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• ke = âhe Ùee  pe e BÛe  k e âj  ue W e fke â Fme  Øe Mve -he $e  c e W c e ge fõle  he =‰ 16 le L ee  Øe Mve 
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Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

30(15+15) questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s keâes[ vecyej le L e e mesš ke âe s Úe$e               
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 
e fue Ke W~ 

Before beginning to answer a question, its Serial 

Number must be written. 

SET : A 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  ceW Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mve -he $e  he j  De Je MÙe  e fue Ke W~ 
Candidates must write their Roll Number on the 
question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination.  

meeceevÙe efveos&Me : 

 (i) Ù e n he ÇMve -h e $e  oe s Ke C[e W c e W e fJeYe e e fpe le  nw : 

  KeC[ – De : ke âch e ve e r ue sKe s le Le e  e fJe òe e rÙe  efJe Jej Ce e W ke âe  e fJe Mue s<e Ce 

  KeC[ – ye : ke âch Ùe tšje rke = âle  uesKe e b ke â ve 

 (ii) h e j er#e e L ee r& De he ve er F ÛÚe  mes keâesF& Skeâ KeC[ Ûe gve W~ 

 (iii) meYeer heÇMve nue keâjves nQ~ he Çl Ùe ske â he ÇMve ke sâ  De b ke â  Gme ke s â me e ce ves 
oMe e &S  ie S  nQ~ 

 (iv) h e ÇMve  me b KÙe e  1 me s 6 l e ke â yengJe wke âe fuhe ke â  heÇMve  nQ~ e fpe ve ke sâ mener 
G òe j  Ûe gve ke âj  De he vee r Gòe j -he ge fmle k e â e  ce W efue Ke ve s nQ~ 

 (v) h e ÇMve  me b KÙ e e  13, 14 Je  15 ce W De e vle e fj keâ  Útš G he uey Oe  nw~ 
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General Instructions : 

 (i) This question paper is divided into two 

Sections : 

  Section – A : Company Accounts and 

Financial Statement Analysis 

  Section – B : Computerised Accounting 

 (ii) Candidates have to select any one Section 

of their choice. 

 (iii) All questions are to be attempted. Marks 

for each question are indicated against it. 

 (iv) Question No. 1 to 6 are multiple choice 

questions. Candidates are required to select 

one appropriate answer and write the 

same in their answer-book. 
 (v) Internal choice is available in Question No. 

13, 14 and 15. 

KeC[ – De 
SECTION – A 

(keâcheveer uesKes leLee efJeòeerÙe efJeJejCeeW keâe efJeMues<eCe) 
(Company Accounts and Financial Statement Analysis) 

  1. `$e+Cehe$e MeesOeve keâes<e efJeefveÙeesie' keâer efyeÇkeâer hej ngS ueeYe keâes nmleebleefjle 
efkeâÙee peelee nw : 1 

 (A) ueeYe-neefve Keeles ceW 
 (B) meeceevÙe mebÛeÙe Keeles ceW 
 (C) hetBpeer mebÛeÙe Keeles ceW 
 (D) GheÙeg&keäle efkeâmeer ceW veneR 
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 Profit on sale of 'Debenture Redemption Fund 

Investment' is transferred to : 

 (A) Profit and Loss A/c 

 (B) General Reserve A/c 

 (C) Capital Reserve A/c 

 (D) None of the above 

  2. `$e+Cehe$e MeesOeve keâes<e efJeefveÙeesie' hej heÇehle yÙeepe keâes nmleevleefjle keâjles 
nQ :  1 

 (A) ueeYe-neefve Keeles ceW 
 (B) $e+Cehe$e MeesOeve keâes<e efJeefveÙeesie Keeles ceW 
 (C) $e+Cehe$e MeesOeve keâes<e ceW 
 (D) GheÙeg&keäle efkeâmeer ceW veneR 
 Interest received on 'Debenture Redemption  

Fund Investment is transferred to : 

 (A) Profit and Loss A/c 

 (B) Debenture Redemption Reserve Investment 

A/c 

 (C) Debenture Redemption Fund A/c 

 (D) None of the above 

  3. efvecve ceW mes keâewve-mee efJeòeerÙe efJeJejCe Skeâ efveefMÛele DeJeefOe ceW JÙeJemeeÙe 
mebÛeeueve mes mJeeceer kesâ efnle ceW heefjJele&ve keâes heÇkeâš keâjlee nw ? 1 

 (A) efvecee&Ce Keelee 
 (B) ueeYe-neefve Keelee 
 (C) DeeefLe&keâ efÛeªe 
 (D) GheÙeg&keäle keâesF& veneR 
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 From the followings which financial statement 

shows the change in the owner's interest by 

operation of business for a period of time : 

 (A) Manufacturing Account 

 (B) Profit and Loss A/c 

 (C) Balance Sheet  

 (D) None of the above 

  4. `$e+Cehe$eeW kesâ MeesOeve hej heÇerefceÙece' keâcheveer kesâ DeeefLe&keâ efÛeªs ceW efkeâme 
Meer<e&keâ kesâ Devleie&le efoKeeÙee peelee nw ? 1 

 (A) iewj-Ûeeuet mecheefòeÙeeB (B) Ûeeuet mecheefòeÙeeB 

 (C) mebÛeÙe SJeb DeeefOekeäÙe (D) GheÙeg&keäle efkeâmeer ceW veneR 

 In the Balance sheet of a company 'Premium on 

redemption of debentures' is shown under the 

head : 

 (A) Non-Current Assets (B) Current Assets 

 (C) Reserve and Surplus (D) None of the above 

  5. ceeue Je mesJeeDeeW kesâ Deehetefle&keâòee&DeeW keâes efkeâÙes ieS vekeâo YegieleeveeW mes ngS 
jeskeâÌ[ heÇJeen keâes Jeieer&ke=âle keâjles nQ : 1 

 (A) efveJesMeve efkeÇâÙeeDeeW mes 

 (B) efJeòeerÙeve efkeÇâÙeeDeeW mes 

 (C) heefjÛeeueve efkeÇâÙeeDeeW mes  

 (D) GheÙeg&keäle ceW efkeâmeer mes veneR 
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 Cash payments made to suppliers for goods and 

services are classified as cash flows from : 

 (A) Investing activities 

 (B) Financing activities  
 (C) Operating activities 
 (D) None of the above 

  6. JÙeeheeefjkeâ uesveoejesb kesâ cetuÙe ceW keâceer keâe heefjCeece neslee nw : 1 

 (A) yeefnJee&n (B) Devlej heÇJeen 
 (C) keâesF& heÇJeen veneR (D) GheÙeg&keäle ceW keâesF& veneR 
 Decrease in the value of trade creditors results 

in : 

 (A) Cash out flows (B) Cash in flows  

 (C) No cash flow (D) None of the above 

  7. Skeäme efueefcešs[ ves ™uot jece kesâ 100 mecelee DebMe (10 ` heÇefle DebMe) 
keâes 2 ` heÇefle DebMe heÇLece ÙeeÛevee kesâ leLee 3 ` heÇefle DebMe Deefvlece 
ÙeeÛevee ve osves hej peyle keâj efueS~ FveceW mes 75 DebMe 3.50 ` heÇefle 
DebMe keâer Útš hej Iemeerše jece keâes hegve: efveie&efcele keâj efoS~ 

 keâcheveer keâer hegmlekeâeW ceW DebMeeW kesâ peyle Je hegveefve&ie&ceve mes mecyeefvOele 
DeeJeMÙekeâ heÇefJeef„ÙeeB keâerefpeS~   4 

 X Ltd. forfeited 100 equity shares of ` 10 each 

held by Ruldu Ram for non-payment of First call 

of ` 2 per share and final call of ` 3 per share. 

Out of these, 75 shares were reissued to Ghasita 

Ram at a discount of ` 3.50 per share. 

 Give journal entries for forfeiture and reissue of 

shares in the books of the company. 
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  8. DebMe leLee $e+Cehe$e ceW Devlej mhe„ keâerefpeS~ 4 

 Distinguish between shares and debentures. 

  9. efvecveefueefKele keâers DeeJeMÙekeâ jespeveeceÛee heÇefJeef„ÙeeB keâerefpeS :  

 (A) Skeâ keâcäheveer 8% $e+Cehe$e 1,50,000 ` keâes uee@šjer Éeje 
ueeYeeW ceW mes MeesOeve efkeâÙee~     2 

 (B) Skeâ keâcheveer ves 10,000, 6% $e+Cehe$e 100 ` Jeeues 5% 
keâšewleer hej efveie&efcele efkeâS efpevekeâe MeesOeve 5% heÇerefceÙece hej 
nesvee nw~       2 

 Give journal entries for : 

 (A) A company redeemed ` 1,50,000 8% 

debentures out of profits by drawing a 

lottery. 

 (B) A company issued 10,000, 6% debentures 

of ` 100 each at 5% discount and 

redeemable at 5% premium. 

10. efJeòeerÙe efJeJejCeeW keâer meerceeDeeW keâe JeCe&ve keâerefpeS~ 4 

 Explain the limitations of Financial Statements. 

11. Skeâ keâcheveer keâe 31 ceeÛe&, 2012 keâes efvecveefueefKele keâe meceeÙeespeve 
keâjves kesâ yeeo 7,50,000 ` ueeYe Lee 4 

 `̀̀̀ 

hueebš leLee ceMeervejer hej Üeme 65,000 

heÇejefcYekeâ KeÛes& DeheefueefKele efkeâS 17,500 

Heâveer&Ûej yesÛeves mes ueeYe ngDee 6,500 

keâceerMeve heÇehle ngDee 12,000 



 ( 8 ) 3008/ (Set : A) 

3008/ (Set : A) 

Mes<e 31 ceeÛe& 
2011  

`̀̀̀ 

31 ceeÛe& 
2012  

`̀̀̀ 

osveoej 1,12,500 86,750 

yeQkeâ Mes<e 77,600 55,250 

hetJe&oòe yeercee 6,500 7,200 

 GheÙeg&keäle metÛeveeDeeW mes heefjÛeeueve efkeÇâÙeeDeeW mes jeskeâÌ[ heÇJeen keâer ieCevee 
keâerefpeS~ 

 A Company had a profit of ` 7,50,000 for the 

year ended on 31st March 2012 after 

considering the following : 

 `̀̀̀ 

Depreciation on Plant and Machinery 65,000 

Preliminary Expenses written off 17,500 

Profit on sale of furniture 6,500 

Commission received  12,000 

 

Balances as on 31 March 

2011  

`̀̀̀ 

31 March 

2012  

`̀̀̀ 

Debtors 1,12,500 86,750 

Bank Balance 77,600 55,250 

Prepaid Insurance 6,500 7,200 

 Calculate cash flow from operating activities 

from the above information. 
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12. `jeskeâÌ[ heÇJeen meowJe uesKeebkeâve ueeYe kesâ yejeyej neslee nw~' keâLeve keâer 
efJeJesÛevee keâerefpeS~ 4 

 'Cash flows are always equal to the accounting 

profits.' Discuss the statement. 

13. 30,00,000 ` mes DeefOeke=âle hetBpeer Jeeueer Skeâ keâcheveer ves 2,00,000 
DebMe 10 ` heÇefle DebMe, 1 ` kesâ heÇerefceÙece hej peejer efkeâS~ osÙe jkeâce Fme 
heÇkeâej Leer – DeeJesove hej 3 `; Deeyebšve hej 4 ` (heÇerefceÙece meefnle) 
leLee heÇLece Je Deefvlece ÙeeÛevee hej 4 `~ 

 Deefle DeeJesove ngDee leLee 3,60,000 DebMeeW  kesâ efueS DeeJesove heÇehle 
ngS~ Deeyebšve efvecve heÇkeâej efkeâÙee : 
1,50,000 DebMeeW kesâ DeeJesokeâesb keâes 1,50,000 DebMe 
25,000 DebMeeW kesâ DeeJesokeâesb keâes MetvÙe 
1,85,000 DebMeeW kesâ DeeJesokeâesb keâes 50,000 DebMe 

 DeeJesove hej efceueer DeefOekeâ jeefMe Deeyebšve Je ÙeeÛevee hej meceeÙeesefpele keâj 
oer ieF&~ meeje hewmee efJeefOeJeled efceuee~   10 

 DeeJeMÙekeâ jespeveeceÛee ØeefJeef°ÙeeB keâerefpeS~ 
 A company with an authorised capital of 

` 30,00,000 invited applications for 2,00,000 

shares of ` 10 each at a premium of ` 1 per 

share. The amount was payable as follows : ` 3 

on application; ` 4 (including premium) on 

allotment and ` 4 on first and final call. 

 There was over-subscription and applications 

were received for 3,60,000 shares. Allotment of 

shares was made as under : 

To applicants of 1,50,000 shares 1,50,000 shares 

To applicants of 25,000 shares Nil 

To applicants of 1,85,000 shares 50,000 shares 
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 Excess money paid on application was adjusted 

against sums due on allotment and call. All 

money due were received. 

 Pass necessary journal entries. 

DeLeJee 

OR 

 (A) heÇefleYetefle heÇerefceÙece keâer jeefMe keâe heÇÙeesie efkeâve GösMÙeeW keâer hetefle& kesâ 
efueS efkeâÙee pee mekeâlee nw ?     5 

  For what purposes, the amount of 

securities premium can be utilised ? 

 (B) DebMeeW kesâ keâšewleer hej efveie&ceve SJeb peyle efkeâS ngS DebMeeW keâe 
keâšewleer hej hegve: efveie&ceve ceW Devlej efueefKeS~   5 

  Distinguish between issue of shares at 

discount and re-issue of forfeited shares at 

a discount. 

14. Skeâ efueefcešs[ keâcheveer keâe $e+Cehe$e MeesOeve keâes<e 5,00,000 ` nw pees 
5,90,000 ` kesâ Debefkeâle cetuÙe keâer 5% heÇefleYetefle ceW efJeefveÙeesefpele nw~ 
keâcheveer keâe yeQkeâ Mes<e 60,000 ` nw~ 5,00,000 ` kesâ $e+Cehe$eeW keâe 
MeesOeve keâjves kesâ efueS heÇefleYetefleÙeeB 83% Megæ ceW yesÛe oer ieF& leLee 
$e+Cehe$eeW keâe MeesOeve keâj efoÙee ieÙee~ 

 GheÙeg&keäle JÙeJenejeW mes mecyeefvOele keâcheveer keâer hegmlekeâeW ceW DeeJeMÙekeâ 
jespeveeceÛee heÇefJeef„ÙeeB keâerefpeS~   10 

 A company had a Debenture Redemption Fund 

of ` 5,00,000 represented by the investment 

amounting to ` 5,90,000 in 5% securities. The 

company has bank balance of ` 60,000. 
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 The securities was sold to redeem the 

debentures of ` 5,00,000 @ 83% net and the 

proceeds were banked and debentures were 

redeemed. 

 Record the above transactions in company's 

ledger. 

DeLeJee 
OR 

 $e+Cehe$eeW kesâ MeesOeve kesâ efueS peye Skeâ $e+Cehe$e MeesOeve keâes<e yeveeÙee 
peelee nw, lees keâcheveer keâer hegmlekeâeW ceW keâewve-meer efJeefYevve heÇefJeef„ÙeeB keâer 
peeleer nwb ?    10 

 What journal entries are passed in the books of 

the company when a Debenture Redemption 

Fund is created to redeem the debentures of a 

company ? 

15. efvecve efJeJejCeeW mes ieCevee keâerefpeS : 10 

 (i) efJekeÇâÙe ueeiele 

 (ii) heÇejefcYekeâ jnefleÙee leLee Deefvlece jnefleÙee 

 (iii) Ûeeuet mecheefòeÙeeB leLee lejue mecheefòeÙeeB, Ùeefo 

  (a) mše@keâ DeeJele&ve Devegheele 5 iegCee nw 

  (b) Deefvlece mše@keâ, heÇejefcYekeâ mše@keâ mes 5,000 ` pÙeeoe nw 

  (c) mekeâue ueeYe Devegheele efJekeÇâÙe hej 20% nw 

  (d) efJekeÇâÙe 90,000 ` 

  (e) Ûeeuet oeefÙelJe 30,000 ` 

  (f) lejue Devegheele 0.75 
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 From the following details, calculate : 

 (i) Cost of goods sold 

 (ii) Opening stock and closing stock 

 (iii) Current Assets and Liquid Assets, if 

  (a) Stock turnover ratio is 5 times. 

  (b) Closing stock is ` 5,000 more than 

opening stock 
  (c) Gross profit ratio is 20% on sales. 
  (d) Sales 90,000 ` 
  (e) Current liabilities 30,000 ` 
  (f) Quick Ratio is 0.75 

DeLeJee 
OR 

 Devegheele efJeMues<eCe mes Deehe keäÙee mecePeles nwb ? Fmekesâ cenòJeeW keâe JeCe&ve 
keâerefpeS~    10 

 What do you mean by ratio analysis ? Explain 

its importance. 

KeC[ – ye 
SECTION – B 

(keâchÙetšjerke=âle uesKeebkeâve) 
(Computerized Accounting) 

  1. 'SQL' mes DeefYeheÇeÙe nw : 1 

 (A) hebefkeäle mJe™he Yee<ee (B) heÇMveefÛeÖ Yee<ee 
 (C) GæjCe efÛeÖ Yee<ee (D) GheÙeg&keäle keâesF& veneR 
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 'SQL' stands for : 

 (A) Structured Queue Language 

 (B) Structured Query Language 

 (C) Structured Quote Language 

 (D) None of the above 

  2. efvecve ceW mes keâewve-meer [sše mebÛeÙeve heÇCeeueer GheYeeskeälee mes ieghle jKeer peeleer 
nw ?  1 

 (A) efheÚuee-DeeBkeâÌ[e keâes<e (B) meeceves keâe DeeBkeâÌ[e keâes<e 

 (C) efjheesefšËie heÇCeeueer (D) FveceW mes keâesF& veneR 

 Which of the following data storage system is 

hidden from the user ? 

 (A) Back-End DB (B) Front-End DB 

 (C) Reporting System (D) None of the above 

  3. efvecve ceW mes keâewve-meer heÇefkeÇâÙee `Keelee' SJeb `DeeefLe&keâ uesveosve' oesveeW kesâ 
efueS heÇÙeesie keâer peeleer nw ? 1 

 (A) mebefnleekeâjCe (B) efJemleejCe 

 (C) mJej heefjJele&ve (D) GheÙeg&keäle meYeer 

 Which of the following  technique is required for 

both Account and Financial transactions ? 

 (A) Codification (B) Amplification 

 (C) Modulation (D) All of the above 



 ( 14 ) 3008/ (Set : A) 

3008/ (Set : A) 

  4. hebefkeäle Deewj mlecYe kesâ Ùeesie mes efvecve ceW mes keâewve-mee Meyo yevelee nw ? 1 

 (A) ÛekeÇâ  (B) peeueer 
 (C) ef$eYegpe  (D) keâesF& veneR 
 Combination of Row and Column in a spread 

sheet form which of the following term ? 

 (A) Circle (B) Grid 

 (C) Triangle (D) None 

  5. efvecve ceW mes keâewve-meer ueIeg kegBâpeer keâe heÇÙeesie [sše efÛehekeâeves kesâ efueS efkeâÙee 
peelee nw ? 1 

 (A) Ctrl + C (B) Ctrl + V 
 (C) Ctrl + Z (D) GheÙeg&keäle ceW keâesF& veneR 
 Which of the following short key is used to paste 

data ? 

 (A) Ctrl + C (B) Ctrl + V 
 (C) Ctrl + Z (D) None of the above 

  6. efvecve ceW mes keâewve-mee Skeâ Fvehegš GhekeâjCe nw ? 1 

 (A) cegõkeâ  (B) huee@šj 
 (C) keâer-yees[& (D) keâesF& Yeer veneR 
 From the following which one is input device ? 

 (A) Printer (B) Plotter 

 (C) Keyboard (D) None 

  7. nmleÛeeefuele uesKeebkeâve heÇCeeueer keâer keâchÙetšjerke=âle uesKeebkeâve heÇCeeueer mes 
leguevee keâerefpeS~ 4 

 Compare manual accounting with computerized 

accounting. 
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  8. keâchÙetšjerke=âle uesKeebkeâve kesâ efJeefYevve FbšjHesâme ™heeW keâe GuuesKe keâerefpeS~ 4 

 Write down various forms of Interfaces in 

computerized accounting. 

  9. omleeJespe uesve-osve kesâ efueS JeeGÛej kesâ heÇkeâej Je JÙeJemLee keâes    
mecePeeFS~ 4 

 Describe the types and system of vouchers for 

document transactions. 

10. Skeämesme (Access) keâes Fmlesceeue keâjves kesâ efueS Skeämesme (Access) kesâ 
DeeOeej Je heæefle keâes mecePeeFS~ 4 

 Explain the Access basis and procedure to 

create form using Access. 

11. uesKeebkeâve efjheesš& hej Skeâ efšhheCeer efueefKeS~ 4 

 Write a short note on Accounting Report. 

12. mheÇs[Meerš keâer efJeMes<eleeSB efueefKeS~ 4 

 Explain the various features of a spread sheet. 

13. ``Keeleesb kesâ mebefnleekeâjCe kesâ efueS yenerKeeleeW keâes Fkeâäªe keâjvee DeefveJeeÙe& 
nw~'' keâLeve keâer JÙeeKÙee keâerefpeS~ 10 

 "Grouping of Accounts is a pre-requisite for 

meaningful codification of accounts." Explain 

the statement. 

DeLeJee 
OR 

 [sšeyesme Back-End kesâ efJeefYevve heÇkeâejeW keâes efJemleej mes efueefKeS~ 10 

 Explain various types of Databases at Back-End. 
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14. SQL efJeefOe mes heÇMveeJeueer yeveeves keâer efJeefYevve heÇefkeÇâÙeeDeeW keâe efJemle=le 
GuuesKe keâerefpeS~ 10 

 Describe in detail the various methods for 

creating queries by SQL method. 

DeLeJee 
OR 

 Skeämesme (Access) ceW efjheesš& ef[peeFve keâes mecePeeFS~ 10 

 Explain report design in Access. 

15. Skeämesue (Excel) ceW Jeke&âMeerš yeveeves kesâ DeeOeej Deewj heÇefkeÇâÙeeDeeW keâer 
JÙeeKÙee keâerefpeS~ 10 

 Explain the base and procedures for creating 

worksheet in Excel. 

DeLeJee 
OR 

 Skeämesue (Excel) ceW, Jeke&âyegkeâ leLee Jeke&âMeerš ceW GoenjCe keâer meneÙelee 
mes Devlej mhe„ keâerefpeS~   10 

 Differentiate between workbook and worksheet 

in Excel with suitable examples. 

S 


